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B =X 85, 262, 170
ps+ T = 2,646, 208
JEHI T 2 564, 300 | A (HOEH) 1,900 m3
+#b 3, 000m3LA b [EELE ;
Bt = 132,450 |+ (AL 10 m3
2. 5mAT ;
R ) 80 m3
2. 5mPL 4. OmARTi ;
B+ GRA ) 60 m3
4. 0mPL E
Rkt A = 148, 067 | LT (8] 1-50) 10 m2
BRI v+ R O + kit
T (B ) 330 m2
T i S O I BRI
P v T = 1,801,391 |%&Hh 1 =
B O-27)
T wb AT 1 2V
0 Cadl- EHIRY £5T) ;
IR = 292, 375
faEAET 2 292,375 | fHAEHA WAL 10 m2
3em AEAEFLA AT T, 100m2A T ;
ANTHEZ 330 m2
Dot
av))-MESE T = 55, 188, 877
EELT X 1,938,681 |KHE Y FEAI (WEH)) 1 X
+4)
HEL 1 X
+4)
HEL 1 X
+4) ;
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P v T = 1 663,616 |F&Hh 1 =
L O-27)
T wb AT 1 X
0 Cadl- EHIRY £5T) ;
2y )Y - MESRAR T = 1 52,586, 580 |av/)—} 1, 440 m3
18-5-40 (FJFB) —f¥FEA AEav)) - VEHEARME ;
Befay ) -b 22 m3
I C=300kg/m3-5-40 (B 4AB) ;
1B 20 m
CF300X 7 ;
AT LR 180 m2
et A 790 m2
SRR T 2 1 10, 696, 715
SR EHE LR AR T = 1 10, 696, 715 | S 9.4 t
BRIAY » b
/7Y =} 67 m3
18-5-40 (FBFB) —fa& A Azav) ) - MEIHEAENE ;
Bekay ) -b 22 m3
R C=300ke/m3-5-40 (F4AB) ;
P s A 55 m2
s 1 =X
BEL Y P
PRI 8 T = 1 6, 802, 404
e+ T 2 1 677,160 |ERIE Y (EHEI (BVE5)) 1 X
+4)
HEL 1 X
+4)
fRIEE T = 1 517,097 |av))-} 7 m3
18-5-40 (FBFB) —Ma& 4 /7)) -ME R HIE I |
H Hx 7 m2
TR AHEET B M t=10 ;
FRATA LA 7 m2
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P s A 14 m2
B T = 1 457,967 |2/))-} 6 m3
18-5-40 (BFB) — a8 27 -MEHIHE I
H HihR 7 m2
TR AHERT B M t=10 ;
FRATALHE R e 6 m2
FRAT A 13 m2
KT = 1 270, 180 |av7)-} 9 m3
18-5-40 (B4FB) —M¥a&4AE /) -MEMFIE I
KT = 1 270, 180 |av7)-} 9 m3
18-5-40 (B4FB) —M¥a&4AE /) -MEMIFIE I
T =Y 1 4,609,820 |2v7)-} 70 m3
18-5-40 (BFB) — a8 27 -MEHIHE I
FRATALHE R e 47 m2
FRAT A 110 m2
SN 36 m
8 120cm B 50cm A7 2 5 &50em X
IE120cm FIZEFA 50— 150mm ;
WBAELEAT BRR & L = 1 167, 900
4k L X 1 167,900 |4k 1 bia
e A A4 400 X600X13 ;
R T = 1 9, 054, 891
HRHEI T =X 1 58,986 | #EH! 180 m3
/Y A7 iy b PRI PEEME 5, 000m3ATH ;
EELT =X 1 315,135 |FRIEY 1 =X
+w
HEL 1 X
+H
Bt = 1 118,346 |+ (A1) 20 m3
2. 5mAT ;
%+ Gt H 1) 60 m3
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4. 0mPL E
Rkt A = 1 42,214 | IEmEER (8] 150) 20 m2
BRI v+ R O + kit
LRI (3% 1350) 60 m2
T i S O I BRI
P v T = 1 164,879 |F&if 1 =
BIL (-27)
T wb AT 1 X
0 Cadl- EHIRY £5T) ;
fliAE T = 1 179, 450 | FEA= FEAF R AT 20 m2
3em AEAEFLA AT T, 100m2A T ;
ANTHEZ 60 m2
bt
av)) -k T X 1 586, 760 | T fg & (FIE - BEIE ) 100 m2
FEITyYr77 RC-40 A VW E 150mm ;
2 - M % 100 m2
18-8-20(25) i) &#i24/E 150mm ;
AR T = 1 6,127,671 | H I ABMATE 13 m
25
1,000 1, 300 (it ) ;
H H A B 5 m
25
1, 000X 1, 400 (it ) ;
H H A B 1 m
35
700X 1, 200 (fr A1)
H 2B RS 39 m
45
700 X 700 (HEWTH) ;
H H A B 2 m
45
700 X900 GHEWT )
| EH 2 B 2 m
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4%
700 X 1100 GEEWTA) ;
H 2B RS 3 m
4%
700 X 1200 (FEr ) ;
H 2B RS 9 m
4%
700 X 1300 GEEWT ) ;
NS 56 e
B B AEE (T005EWT ) avr)-h
NS 16 e
H B AEUTE (L000HEWTH) 27135 ;
illes= 2 bi'e
H B AETE (L000HKEWTH) 77 Vv—F777 2 1=500
K VMNEE T-25 ;
illes= 1 bi'e
H B AEMTE (T00REMT ) 77 v-Fv7" & 1=1000
KV MEE T-25
kT = 365,300 | BLEGHT B 1 (£
BUSHTH 18-8-25 GlF) 1hmfEEMIEE ;
PEANIBA AT L =X 1,096, 150 |4 =} V=W 110 m
BN Gr-C—4F 100mLh = ARSI IEAE ;
% T = 412, 800
AR EE T 2 412,800 | AIEFHEE AN E 1 =X
RN X = 85, 262, 170
B =X 8, 385, 549
Im iR Ex % =Y 1, 674, 549
e 2 =X 863, 549 | RISy 1 X
-5 - SRR CE W - g g =
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BUGBREIUEL (REH L) 2V 811, 000
sty (R L) 2V 6, 711, 000
R e 2V 93, 647, 719
e R 2V 25, 055, 000
T AT X 118,702, 719
— e PR 2V 19, 897, 281
N 2V 138, 600, 000
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